

Pripravené příklady:

$$2x - 3(x - 7) = -x - (x + 1) \quad [-22]$$

$$3(2 - x) - (x + 3) = 12 + 4x \quad [-9/8]$$

$$-1 - (x + 3) \cdot 2 = 5x + 7 \cdot (-2x) \quad [1]$$

$$(x - 3) \cdot (-2) - 1 = 2x + 3 + (-x + 1) \quad [1/3]$$

$$2x - (x + 3) = 5x - 4 \quad [1/4]$$

$$3 \cdot (x - 2) - (6x + 2) = 4 \cdot (2x - 2) \quad [0]$$

$$x + 3 \cdot (x - 1) - x + 3 = 4x - (6x + 7 + 8x) \quad [-7/13]$$

$$7x - 4 \cdot [4x - (-1 + 2x)] = [(4x - 4) \cdot 2 - 4x] \cdot (-2) \quad [20/7]$$

$$\frac{x - 3}{5} - \frac{1}{2} = 3x - \frac{1 - 2x}{3} \quad [-23/104]$$

$$\frac{x}{2} - \frac{1 - x}{4} = 3 \cdot \left(x - \frac{3 + 5x}{3}\right) \quad [-1]$$

$$2 + \frac{x + 1}{3} - \frac{x}{2} = -\frac{2 - x}{6} + x \quad [2]$$

$$\frac{3}{5} \left(x - \frac{5}{6}\right) = \frac{2x}{5} + 3 \quad [35/2]$$

$$\frac{x - 3}{5} - \frac{1 + 2x}{2} = \frac{3}{10} \cdot (5x - 4) \quad [1/23]$$

$$\frac{1}{2} \cdot \left(\frac{1}{4} - \frac{x}{8}\right) = 8 \cdot (4 - 2x) \quad [2]$$